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O essencial do processo da reacção de Briggs‐Rauscher é o seguinte: 
 
1. Assim que as soluções são misturadas, o ião iodato é reduzido pelo peróxido 

de hidrogénio produzindo ácido iodoso (HIO2): 
 
HIO3 + H2O2  HIO2 + O2 + H2O 
 

2. O processo com radicais (âmbar) começa com a produção de radicais 
hidroperóxido (HOO·) e, por fim, ácido hipoiodoso (HIO): 
 
IO3

- + HIO2 + H+  2IO2· + H2O 
IO2· + Mn+2 + H2O  HIO2 + Mn(OH)+2 

Mn(OH)+2 + H2O2  Mn+2 + HOO· + H2O 

2HOO·  O2 + H2O2 
2HIO2   IO3

- + H+ + HIO 
 

3. O ácido hipoiodoso segue duas vias diferentes, uma das quais produz iodo: 
 
3.a  HIO + H2O2  I- + O2 + H+ + H2O 
3.b  HIO + I- + H+  I2 + H2O 
 

4. O iodo reage lentamente com o ácido malónico, de acordo com a seguinte 
equação: 
 
I2 + CH2(CO2H)2  ICH(CO2H)2 + H+ + I- 

 
5. [HIO], [I2], [I-] aumentam significativamente, já que: 

 
IO3

- + 2H2O2 + H+  HIO +2O2 + 2H2O 
 
é mais rápida do que: 
I- + HIO + H+  I2 + H2O 
 
e do que: 
I2 + CH2(CO2H)2  ICH(CO2H)2 + H+ + I- 

 
6. À medida que [I‐] aumenta, a reacção: 

 
HIO2 + I- + H+  2HIO 
torna‐se mais rápida do que: 
IO3

- + HIO2 + H+  2IO2· + H2O 
IO2· + Mn+2 + H2O  HIO2 + Mn(OH)+2 

 



7. O processo com radicais, por esse motivo, pára e o excesso de HIO da 
reacção no passo 5 é consumido nas seguintes reacções com não radicais 
(azul): 
 
I- + HIO + H+  I2 + H2O 
I2 + CH2(CO2H)2  ICH(CO2H)2 + H+ + I- 

 
8. Quando [I‐] é suficientemente baixa, as reacções: 

 
IO3

- + HIO2 + H+  2IO2· + H2O 
IO2· + Mn+2 + H2O  HIO2 + Mn(OH)+2 

tornam‐se mais rápidas do que: 
 
HIO2 + I- + H+  2 HIO 
e o processo com radicais (âmbar) inicia‐se novamente. 
 

9. A sequência continua até todo o anião iodato e todo o ácido malónico terem 
reagido completamente. 
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